

**A STUDY ON q -ANALOGUE OF DEGENERATE $\frac{1}{2}$ -CHANGHEE
NUMBERS AND POLYNOMIALS**

Waseem A. Khan

Department of Mathematics and Natural Sciences,
Prince Mohammad Bin Fahd University,
P.O. Box: 1664, Al Khobar 31952, SAUDI ARABIA

E-mail : wkhan1@pmu.edu.sa

(Received: Sep. 17, 2021 Accepted: Aug. 25, 2022 Published: Aug. 30, 2022)

Abstract: The aim of the paper is to introduce q -analogue of degenerate $\frac{1}{2}$ -Changhee numbers $Ch_{n,q,\lambda,\frac{1}{2}}$ with the help of a p -adic q -integral on \mathbb{Z}_p and derive explicit expressions and some identities for those numbers. In more detail, we deduce explicit expressions of $Ch_{n,q,\lambda,\frac{1}{2}}$, as a rational function in terms of Euler number and Stirling numbers of the first kind, as a fermionic p -adic q -integral on \mathbb{Z}_p .

Keywords and Phrases: Degenerate Catalan numbers, q -analogue of degenerate $\frac{1}{2}$ -Changhee numbers, p -adic q -integral on \mathbb{Z}_p .

2020 Mathematics Subject Classification: 11B83, 11B73, 05A19.

1. Introduction

Let p be a fixed odd prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of an algebraic closure of \mathbb{Q}_p . The p -adic norm $|\cdot|_p$ is normalized by $|p|_p = \frac{1}{p}$. Let $C(\mathbb{Z}_p)$ be the space of continuous function on \mathbb{Z}_p . Let q be an indeterminate in \mathbb{C}_p with $|1-q|_p < 1$ and q -extension of x is defined by $[x]_q = \frac{1-q^x}{1-q}$. Then the fermionic p -adic q -integral of f on \mathbb{Z}_p is defined by Kim as follows

$$I_{-q}(f) = \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) \mu_{-q}(x + p^N \mathbb{Z}_p),$$

$$= \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{x=0}^{p^N-1} f(x)(-q)^x, \text{ (see [24]).} \quad (1.1)$$

Let $f_1(x) = f(x+1)$. Then, by (1.1), we get

$$qI_{-q}(f_1) + I_{-q}(f) = [2]_q f(0). \quad (1.2)$$

It is well known that the Euler numbers are defined by

$$\frac{2}{e^t + 1} = \sum_{n=0}^{\infty} E_n \frac{t^n}{n!}, \text{ (see [6-31]).} \quad (1.3)$$

Let q be an indeterminate in \mathbb{C}_p with $|1 - q|_p < 1$. The q -analogues of Euler numbers are given by

$$\frac{[2]_q}{qe^t + 1} = \sum_{n=0}^{\infty} E_{n,q} \frac{t^n}{n!}, \text{ (see [20, 24, 25, 26]).} \quad (1.4)$$

Note that $\lim_{q \rightarrow 1} E_{n,q} = E_n$, ($n \geq 0$).

The q -analogues of Changhee numbers are given by

$$\frac{[2]_q}{[2]_q + t} = \sum_{n=0}^{\infty} Ch_{n,q} \frac{t^n}{n!}, \text{ (see [17, 26, 31]).} \quad (1.5)$$

Kim-Kim [16] introduced the λ -Changhee polynomials are defined by

$$\frac{2}{(1+t)^\lambda + 1} (1+t)^{\lambda x} = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!}, \quad (1.6)$$

where $\lambda \in \mathbb{Z}_p$.

When $x = 0$, $Ch_{n,\lambda} = Ch_{n,\lambda}(0)$ are called the λ -Changhee numbers.

For $n \geq 0$, the Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{l=0}^n S_1(n, l) x^l, \text{ (see [1-5, 16-20]),} \quad (1.7)$$

where $(x)_0 = 1$, and $(x)_n = x(x-1) \cdots (x-n+1)$, ($n \geq 1$). From (1.7), it is easy to see that

$$\frac{1}{r!} (\log(1+t))^r = \sum_{n=r}^{\infty} S_1(n, r) \frac{t^n}{n!}, \quad (r \geq 0), \text{ (see [6-15, 21-31]).} \quad (1.8)$$

For $n \geq 0$, the Stirling numbers of the second kind are defined by

$$x^n = \sum_{l=0}^n S_2(n, l)(x)_l, \text{ (see [8-15]).} \quad (1.9)$$

From (1.9), we see that

$$\frac{1}{r!}(e^t - 1)^r = \sum_{n=r}^{\infty} S_2(n, r) \frac{t^n}{n!}. \quad (1.10)$$

As is well known, the Catalan numbers are defined by the generating function as follows (see [1, 2, 3, 21, 22, 31])

$$\frac{2}{1 + \sqrt{1 - 4t}} = \frac{1 - \sqrt{1 - 4t}}{2t} = \sum_{n=0}^{\infty} C_n t^n, \quad (1.11)$$

where $C_n = \binom{2n}{n} \frac{1}{n+1}$, ($n \geq 0$).

The Catalan polynomials are defined by the generating function as follows (see [23])

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 - 4t)^{\frac{x+y}{2}} d\mu_{-1}(y) &= \frac{2}{1 + \sqrt{1 - 4t}} (1 - 4t)^{\frac{x}{2}} \\ &= \sum_{n=0}^{\infty} C_n(x) t^n. \end{aligned} \quad (1.12)$$

When $x = 0$, $C_n = C_n(0)$ are called the Catalan numbers.

Thus, by (1.11) and (1.12), we have

$$C_n(x) = \sum_{m=0}^n \sum_{j=0}^m \binom{x}{2}^j S_1(m, j) (-4)^m \frac{C_{n-m}}{m!}.$$

Kim introduced the $\frac{1}{2}$ -Changhee polynomials which are given by the generating function (see [22])

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 + t)^{\frac{x+y}{2}} d\mu_{-1}(y) &= \frac{2}{1 + \sqrt{1 + t}} \sqrt{(1 + t)^x} \\ &= \sum_{n=0}^{\infty} Ch_{n, \frac{1}{2}}(x) \frac{t^n}{n!}. \end{aligned} \quad (1.13)$$

When $x = 0$, $Ch_{n, \frac{1}{2}} = Ch_{n, \frac{1}{2}}(0)$ are called the $\frac{1}{2}$ -Changhee numbers.

On replacing t by $-4t$ in (1.13) and by using (1.12), we have

$$\begin{aligned} \int_{\mathbb{Z}_p} (1-4t)^{\frac{x+y}{2}} d\mu_{-1}(y) &= \frac{2}{1+\sqrt{1-4t}} \sqrt{(1-4t)^x} \\ &= \sum_{n=0}^{\infty} Ch_{n, \frac{1}{2}}(x) (-4)^n \frac{t^n}{n!}. \\ \sum_{n=0}^{\infty} C_n(x) t^n &= \sum_{n=0}^{\infty} Ch_{n, \frac{1}{2}}(x) (-4)^n \frac{t^n}{n!}. \end{aligned} \quad (1.14)$$

Comparing the coefficients of t , we get

$$C_n(x) = \frac{(-1)^n}{n!} Ch_{n, \frac{1}{2}}(x) 2^{2n}.$$

Recently, Kim *et al.* [21] introduced the q -analogues of Catalan polynomials which are given by

$$\begin{aligned} \int_{\mathbb{Z}_p} (1-4t)^{\frac{x+y}{2}} d\mu_{-q}(y) &= \frac{[2]_q}{1+q\sqrt{1-4t}} (1-4t)^{\frac{x}{2}} \\ &= \sum_{n=0}^{\infty} C_{n,q}(x) t^n. \end{aligned} \quad (1.15)$$

When $x = 0$, $C_{n,q} = C_{n,q}(0)$ are called the q -Catalan numbers.

In this paper, we study q -analogue of degenerate Catalan numbers associated with p -adic q -integral on \mathbb{Z}_p and derive some identities of these numbers and polynomials. Also, we define q -analogue of degenerate $\frac{1}{2}$ -Changhee numbers by using p -adic q -integral on \mathbb{Z}_p and deduce some properties of them.

2. q -analogue of Degenerate $\frac{1}{2}$ -Changhee Numbers and Polynomials

For $\lambda, t, q \in \mathbb{C}_p$ with $|1-q| < 1$ and $|\lambda t| < p^{-\frac{1}{p-1}}$. Now, we define the q -analogue of degenerate $\frac{1}{2}$ -Changhee numbers which are given by the generating function

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x}{2}} d\mu_{-q}(x) &= \frac{[2]_q}{1 + q\sqrt{1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}}} \\ &= \sum_{n=0}^{\infty} Ch_{n,q,\lambda, \frac{1}{2}} \frac{t^n}{n!}. \end{aligned} \quad (2.1)$$

Note that

$$\lim_{\lambda \rightarrow 0} Ch_{n,q,\lambda,\frac{1}{2}} = Ch_{n,q,\frac{1}{2}}, (n \geq 0).$$

From (1.2), we note that

$$\int_{\mathbb{Z}_p} e^{xt} d\mu_{-q}(x) = \frac{[2]_q}{qe^t + 1} = \sum_{n=0}^{\infty} E_{n,q} \frac{t^n}{n!}. \quad (2.2)$$

Thus, by (2.3), we get

$$\int_{\mathbb{Z}_p} x^n d\mu_{-q}(x) = E_{n,q}, (n \geq 0). \quad (2.3)$$

On the other hand, from (2.3), we note that

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x}{2}} d\mu_{-q}(x) &= \sum_{m=0}^{\infty} \int_{\mathbb{Z}_p} x^m d\mu_{-1}(x) \frac{1}{2^m} \frac{1}{m!} (\log(1 + \lambda t)^{\frac{1}{\lambda}})^m \\ &= \sum_{m=0}^{\infty} E_{m,q} 2^{-m} \lambda^{n-m} \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n E_{m,q} 2^{-m} \lambda^{n-m} S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.4)$$

Therefore, by (2.1) and (2.4), we obtain the following theorem.

Theorem 2.1. For $n \geq 0$, we have

$$Ch_{n,q,\lambda,\frac{1}{2}} = \sum_{m=0}^n E_{m,q} 2^{-m} \lambda^{n-m} S_1(n, m).$$

By replacing t with $\frac{1}{\lambda}[e^{-4\lambda t} - 1]$ in (2.1), we have

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 - 4t)^{\frac{x}{2}} d\mu_{-q}(x) &= \sum_{m=0}^{\infty} Ch_{m,q,\lambda,\frac{1}{2}} \frac{(\frac{1}{\lambda}[e^{-4\lambda t} - 1])^m}{m!} \\ &= \sum_{m=0}^{\infty} Ch_{m,q,\lambda,\frac{1}{2}} \lambda^{-m} \sum_{n=m}^{\infty} S_2(n, m) (-4)^n \lambda^n \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n Ch_{m,q,\lambda,\frac{1}{2}} \lambda^{n-m} (-1)^n 2^{2n} S_2(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.5)$$

On the other hand,

$$\int_{\mathbb{Z}_p} (1 - 4t)^{\frac{x}{2}} d\mu_{-q}(x) = \frac{[2]_q}{1 + q\sqrt{1 - 4t}} = \sum_{n=0}^{\infty} C_{n,q} t^n. \quad (2.6)$$

Therefore, by (2.5) and (2.6), we obtain the following theorem.

Theorem 2.2. For $n \geq 0$, we have

$$C_{n,q} = \frac{(-1)^n 2^{2n}}{n!} \sum_{m=0}^n Ch_{m,q,\lambda,\frac{1}{2}} \lambda^{n-m} S_2(n, m).$$

From (2.6), we have

$$\sum_{n=0}^{\infty} (-1)^n 4^n \int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{n} d\mu_{-q}(x) t^n = \sum_{n=0}^{\infty} C_{n,q} t^n. \quad (2.7)$$

From (2.4), we have the following equation

$$\int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{n} d\mu_{-q}(x) = \frac{1}{n!} \sum_{m=0}^n E_{m,q} 2^{-m} \lambda^{n-m} S_1(n, m). \quad (2.8)$$

Therefore, by (2.7) and (2.8), we obtain the following theorem.

Theorem 2.3. For $n \geq 0$, we have

$$C_{n,q} = \frac{(-1)^n}{n!} \sum_{m=0}^n E_{m,q} 2^{2n-m} \lambda^{n-m} S_1(n, m).$$

From (2.1), we observe that

$$\begin{aligned} \int_{\mathbb{Z}_p} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x}{2}} d\mu_{-q}(x) &= \sum_{m=0}^{\infty} \int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{m} d\mu_{-q}(x) \frac{[\log(1 + \lambda t)^{\frac{1}{\lambda}}]^m}{m!} \\ &= \sum_{m=0}^{\infty} \int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{m} d\mu_{-q}(x) \lambda^{n-m} \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{m} d\mu_{-q}(x) \lambda^{n-m} S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.9)$$

Therefore, by (2.1) and (2.9), we get the following theorem.

Theorem 2.4. For $n \geq 0$, we have

$$Ch_{n,q,\lambda,\frac{1}{2}} = \sum_{m=0}^n \int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{m} d\mu_{-q}(x) \lambda^{n-m} S_1(n, m).$$

First, we note that

$$\begin{aligned} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{1}{2}} &= \sum_{m=0}^{\infty} \left(\frac{1}{2}\right)^m \frac{[\log(1 + \lambda t)^{\frac{1}{\lambda}}]^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\frac{1}{2}\right)^m \lambda^m \sum_{n=m}^{\infty} S_1(n, m) \frac{\lambda^n t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \left(\frac{1}{2}\right)^m \lambda^{n-m} S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.10)$$

By (2.1) and (2.10), we get

$$\begin{aligned} [2]_q &= \left(\sum_{n=0}^{\infty} Ch_{n,q,\lambda,\frac{1}{2}} \frac{t^n}{n!} \right) \left((1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{1}{2}} \right) \\ &= \sum_{n=0}^{\infty} Ch_{n,q,\lambda,\frac{1}{2}} \frac{t^n}{n!} + \left(\sum_{n=0}^{\infty} Ch_{n,\lambda,\frac{1}{2}} \frac{t^n}{n!} \right) \left(\sum_{m=0}^k \left(\frac{1}{2}\right)^m \lambda^{k-m} S_1(k, m) \frac{t^k}{k!} \right) \\ &= \sum_{n=0}^{\infty} Ch_{n,q,\lambda,\frac{1}{2}} \frac{t^n}{n!} + \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{m=0}^k \binom{n}{k} \lambda^{k-m} \left(\frac{1}{2}\right)^m S_1(k, m) Ch_{n-k,q,\lambda,\frac{1}{2}} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.11)$$

By comparing the coefficients of t on both sides, we obtain the following theorem.

Theorem 2.5. For $n \geq 0$, we have

$$Ch_{n,q,\lambda,\frac{1}{2}} + \sum_{k=0}^n \sum_{m=0}^k \binom{n}{k} \lambda^{k-m} \left(\frac{1}{2}\right)^m S_1(k, m) Ch_{n-k,q,\lambda,\frac{1}{2}} = \begin{cases} [2]_q, & \text{if } n = 0 \\ 0, & \text{if } n > 1. \end{cases}$$

By replacing t by $-\frac{1}{4} \log(1 + \lambda t)^{\frac{1}{\lambda}}$ in (1.15), we get

$$\frac{[2]_q}{1 + q\sqrt{1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}}} = \sum_{m=0}^{\infty} C_{m,q} m! \frac{[-\frac{1}{4} \log(1 + \lambda t)^{\frac{1}{\lambda}}]^m}{m!}$$

$$\begin{aligned}
&= \sum_{m=0}^{\infty} C_{m,q} \frac{(-1)^m}{4^m} \lambda^{-m} m! \frac{(\log(1 + \lambda t))^m}{m!} \\
&= \sum_{m=0}^{\infty} C_{m,q} \frac{(-1)^m}{4^m} \lambda^{-m} m! \sum_{n=m}^{\infty} S_1(n, m) \frac{\lambda^n t^n}{n!} \\
&= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \frac{(-1)^m}{4^m} C_{m,q} \lambda^{n-m} m! S_1(n, m) \right) \frac{t^n}{n!}. \tag{2.12}
\end{aligned}$$

Therefore, by (2.1) and (2.12), we get the following theorem.

Theorem 2.6. For $n \geq 0$, we have

$$Ch_{n,q,\lambda,\frac{1}{2}} = \sum_{m=0}^n \frac{(-1)^m}{4^m} C_{m,q} \lambda^{n-m} m! S_1(n, m).$$

Now, we observe that

$$\begin{aligned}
(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x}{2}} &= \sum_{m=0}^{\infty} \binom{x}{2}^m \frac{[\log(1 + \lambda t)^{\frac{1}{\lambda}}]^m}{m!} \\
&= \sum_{m=0}^{\infty} \binom{x}{2}^m \lambda^{-m} \sum_{n=m}^{\infty} S_1(n, m) \frac{\lambda^n t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{x}{2}^m \lambda^{n-m} S_1(n, m) \right) \frac{t^n}{n!}. \tag{2.13}
\end{aligned}$$

Now, we consider the q -analogue of degenerate $\frac{1}{2}$ -Changhee polynomials which are given by the generating function as follows

$$\begin{aligned}
\int_{\mathbb{Z}_p} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x+y}{2}} d\mu_{-q}(y) &= \frac{[2]_q}{1 + q\sqrt{1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}}} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x}{2}} \\
&= \sum_{n=0}^{\infty} Ch_{n,q,\lambda,\frac{1}{2}}(x) \frac{t^n}{n!}. \tag{2.14}
\end{aligned}$$

When $x = 0$, $Ch_{n,q,\lambda,\frac{1}{2}} = Ch_{n,q,\lambda,\frac{1}{2}}(0)$ are called the q -analogue of degenerate $\frac{1}{2}$ -Changhee numbers. From (2.14), we note that

$$\begin{aligned}
&\frac{[2]_q}{1 + q\sqrt{1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}}} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x}{2}} \\
&= \sum_{n=0}^{\infty} Ch_{n,q,\lambda,\frac{1}{2}} \frac{t^n}{n!} \sum_{m=0}^{\infty} \binom{\frac{x}{2}}{m} m! \frac{(\log(1 + \lambda t)^{\frac{1}{\lambda}})^m}{m!}
\end{aligned}$$

$$\begin{aligned}
 &= \sum_{n=0}^{\infty} Ch_{n,q,\lambda,\frac{1}{2}} \frac{t^n}{n!} \sum_{m=0}^{\infty} \binom{\frac{x}{2}}{m} \lambda^{-m} m! \sum_{l=m}^{\infty} S_1(l, m) \frac{\lambda^l t^l}{l!} \\
 &= \sum_{n=0}^{\infty} Ch_{n,q,\lambda,\frac{1}{2}} \frac{t^n}{n!} \sum_{l=0}^{\infty} \sum_{m=0}^l \binom{\frac{x}{2}}{m} m! \lambda^{l-m} m! S_1(l, m) \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \binom{\frac{x}{2}}{m} \lambda^{l-m} S_1(l, m) Ch_{n-l,q,\lambda,\frac{1}{2}} m! \right) \frac{t^n}{n!}. \tag{2.15}
 \end{aligned}$$

By (2.14) and (2.15), we obtain the following theorem.

Theorem 2.7. For $n \geq 0$, we have

$$Ch_{n,q,\lambda,\frac{1}{2}}(x) = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \binom{\frac{x}{2}}{m} \lambda^{l-m} S_1(l, m) Ch_{n-l,q,\lambda,\frac{1}{2}} m!.$$

Replacing t with $\frac{e^{-4\lambda t}-1}{\lambda}$ in (2.14), we have

$$\int_{\mathbb{Z}_p} (1-4t)^{\frac{x+y}{2}} d\mu_{-q}(y) = \frac{[2]_q}{1+q\sqrt{1-4t}} \sqrt{(1-4t)^x} = \sum_{n=0}^{\infty} C_{n,q}(x) t^n. \tag{2.16}$$

On the other hand, we have

$$\begin{aligned}
 \sum_{m=0}^{\infty} Ch_{m,q,\lambda,\frac{1}{2}}(x) \frac{[\frac{e^{-4\lambda t}-1}{\lambda}]^m}{m!} &= \sum_{m=0}^{\infty} Ch_{m,q,\lambda,\frac{1}{2}}(x) \lambda^{-m} \sum_{n=m}^{\infty} S_2(n, m) \frac{(-4)^n \lambda^n t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n Ch_{m,q,\lambda,\frac{1}{2}}(x) \lambda^{n-m} (-1)^n 2^{2n} S_2(n, m) \right) \frac{t^n}{n!}. \tag{2.17}
 \end{aligned}$$

Therefore, by (2.16) and (2.17), we obtain the following theorem.

Theorem 2.8. For $n \geq 0$, we have

$$C_{n,q}(x) = \frac{(-1)^n}{n!} \sum_{m=0}^n Ch_{m,q,\lambda,\frac{1}{2}}(x) \lambda^{n-m} 2^{2n} S_2(n, m).$$

From (1.2), we see that

$$\sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} (x+y)^n d\mu_{-q}(y) = \int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_{-q}(y) = \frac{[2]_q}{qe^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_{n,q}(x) \frac{t^n}{n!}. \tag{2.18}$$

From (2.14), we have

$$\begin{aligned} & \frac{[2]_q}{1 + q\sqrt{1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}}} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x}{2}} = \int_{\mathbb{Z}_p} (1 + \log(1 + \lambda t)^{\frac{1}{\lambda}})^{\frac{x+y}{2}} d\mu_{-q}(y) \\ & = \sum_{m=0}^{\infty} 2^{-m} \frac{1}{m!} (\log(1 + \lambda t)^{\frac{1}{\lambda}})^m \int_{\mathbb{Z}_p} (x + y)^m d\mu_{-q}(y) \\ & = \sum_{m=0}^{\infty} 2^{-m} E_{m,q}(x) \lambda^{-m} \sum_{n=m}^{\infty} S_1(n, m) \frac{\lambda^n t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{m=0}^n 2^{-m} E_{m,q}(x) \lambda^{n-m} S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.19}$$

Thus, by (2.14) and (2.19), we get the following theorem.

Theorem 2.9. For $n \geq 0$, we have

$$Ch_{n,q,\lambda,\frac{1}{2}}(x) = \sum_{m=0}^n 2^{-m} E_{m,q}(x) \lambda^{n-m} S_1(n, m).$$

References

- [1] Gould H. W., Sums and convolved sums of Catalan numbers and their generating functions, Indian J. Math., 46 (2-3) (2004), 137-160.
- [2] Hampel R., On the problem of Catalan, (Polish), Prace Mat., 4 (1960), 11-19.
- [3] Hyyro S., On the Catalan problem, (Finnish) Arkhivedes., 1963 (1)(1963), 53-54.
- [4] Haroon H., Khan W. A., Degenerate Bernoulli numbers and polynomials associated with degenerate Hermite polynomials, Commun. Korean Math. Soc., 33 (2018), 651-669.
- [5] Inkeri K., On Catalans's problem, Acta Arith., 9 (1964), 285-290.
- [6] Khan W. A. and Ahmad M., Partially degenerate poly-Bernoulli polynomials associated with Hermite polynomials, Adv. Stud. Contemp. Math. (Kyungshang), 28 (3) (2018), 487-496.
- [7] Khan W. A., A new class of degenerate Frobenius-Euler-Hermite polynomials, Adv. Stud. Contemp. Math. (Kyungshang), 28 (4) (2018), 567-576.

- [8] Khan W. A., Acikgoz M., Duran U., Note on the type 2 degenerate multi-poly-Euler polynomials, *Symmetry*, 12 (2020), 1-10.
- [9] Khan W. A., Nisar K. S., Acikgoz M., Duran U., Multifarious implicit summation formulae of Hermite-based poly-Daehee polynomials, *Appl. Math. Inf. Sci.*, 12 (2) (2018), 305-310.
- [10] Khan W. A., A note on q -analogues of degenerate Catalan-Daehee numbers and polynomials, *Journal of Mathematics*, Volume 2022, Article ID 9486880, 9 pages.
- [11] Khan W. A., A note on q -analogue of degenerate Catalan numbers associated with p -adic integral on \mathbb{Z}_p , *Symmetry*, 14 (1119) (2022), 1-10.
- [12] Khan W. A., Kamarujjama M., A note on type 2 degenerate Daehee polynomials and numbers of the second kind, *Southeast Asian Journal of Mathematics and Mathematical Sciences*, 18 (1)(2022), 11-26.
- [13] Khan W. A., Kamarujjama M., Daud, A note on Appell-type lambda-Daehee-Hermite polynomials and numbers, *Advanced Mathematical Models and Applications*, 7 (2) (2022), 223-240.
- [14] Khan W. A., Iqbal A., A study on degenerate $\frac{1}{2}$ -Changhee numbers and polynomials, *6th International Conference on Soft Computing: Theories and Applications*, Vol. 425 (2022), 933-944.
- [15] Khan W. A., Younis J., Nadeem M., Construction of partially degenerate Laguerre-Bernoulli polynomials of the first kind, *Applied Mathematics in Science and Engineering*, 30 (1) (2022), 362-375.
- [16] Kim D. S., Kim T., Some identities of Korobov-type polynomials associated with p -adic integrals on \mathbb{Z}_p , *Adv. Diff. Equ.*, 2015 (2015), 282.
- [17] Kim T., Kim D. S., A note on nonlinear Changhee differential equations, *Russ. J. Math. Phys.*, 23 (2016), 88-92.
- [18] Kim T., Kim D. S., Seo J.-J., Kwon H.-I., Differential equations associated with λ -Changhee polynomials, *J. Nonlinear Sci. Appl.*, 9 (2016), 3098-3111.
- [19] Kim T., A note on degenerate Stirling numbers of the second kind, *Proc. Jangjeon Math. Soc.*, 20 (3) (2017), 319-331.

- [20] Kim T., A study on the q -Euler numbers and the fermionic q -integral of the product of several type q -Bernstein polynomials on \mathbb{Z}_p , *Adv. Stud. Contemp. Math. (Kyungshang)*, 23 (1) (2013), 5-11.
- [21] Kim T., Kim D. S., Kwon J., A note on q -analogue of Catalan numbers arising from fermionic p -adic q -integral on \mathbb{Z}_p , *Adv. Stud. Contemp. Math. (Kyungshang)*, 31 (3) (2021), 279-286.
- [22] Kim T., A note on Catalan numbers associated with p -adic integral on \mathbb{Z}_p , arXiv:1606.00267v1[math.NT] 1 Jun 2016.
- [23] Kim T., Kim D. S., Seo J.-J., Symmetric identities for an analogue of Catalan polynomials, *Russ. J. Math. Phys.*, 27 (3) (2020), 352-358.
- [24] Kim T., q -Euler numbers and polynomials associated with p -adic q -integrals, *J. Nonlinear. Math. Phys.*, 14 (1) (2007), 15-27.
- [25] Kim T., Analytic continuation of q -Euler numbers and polynomials, *Appl. Math. Lett.*, 21 (12) (2008), 1320-1323.
- [26] Kim T., Rim S.-H., New Changhee q -Euler numbers and polynomials associated with p -adic q -integrals, *Comput. Math. Appl.*, 54 (4) (2007), 484-489.
- [27] Kucukoglu I., Simsek B., Simsek Y., New classes of Catalan-type numbers and polynomials with their applications related to p -adic integrals and computational algorithms, *Turkish J. Math.*, 44 (6) (2020), 2337-2355.
- [28] MA Y., Kim T., Kim D. S., Lee H., A study on q -analogues of Catalan-Daehee numbers and polynomials, *Filomat Journal*, 37 (5) (2022), 1-7.
- [29] Nadeem M., Khan W. A., Shadab M., A note on q -analogue of poly-Genocchi numbers and polynomials, *International Journal of Applied Mathematics*, 35 (1) (2022), 89-102.
- [30] Park J.-W., On the twisted q -Changhee polynomials of higher order, *J. Comput. Anal. Appl.*, 20 (3) (2016), 424-431.
- [31] Rangarajan R., Shashikala P., A pair of classical orthogonal polynomials connected to Catalan numbers, *Adv. Stud. Contemp. Math. (Kyungshang)*, 23 (2) (2013), 323-335.